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QUESTION 1

What does índex fragmentation in the Oracle database mean? There are 2 correct answers to this question. 

A. The índex root block is fractured. 

B. The fragmentation of naíndex specifies how well the space is used in índex. 

C. The index leaf blocks are spread over several table spaces. 

D. Tem smaller the space that is actually used in companson with the total available space, the more fragmented the
index. 

Correct Answer: CD 

 

QUESTION 2
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There are 2 correct answers to this question. 

A. The error can be avoided by running the respective program in a batch job in the SAP system, if background
processing is possible for this program. 

B. The error was caused by a transaction in the SAP system that exceeded the extended memory 

C. The error can be avoided by reducing the memory usage of the respective transaction in the SAP system. 

D. The error was caused by a transaction that exceeded the maximum runtime in a dialog work process of the SAP
system. 

E. The error was caused by a transaction that exceeded the maximum runtime in a background work process of the
SAP system. 

Correct Answer: AD 
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QUESTION 3

For which of the following options do you need to install and configure SAProuter? There are 2 correct answers to this
question. 

A. EarlyWatch Service session done remotely by an SAP Support employee 

B. Connection to https://scn.sap.com 

C. Remote Consulting from SAP 

D. Connection to https://service.sap.com 

E. Create a support message in case of problems with the SAP system 

Correct Answer: CE 

 

QUESTION 4

The NOMOUNT state is necessary for database recovery, for changing the AKCHR\\'ELOG mode, for renaming
(moving) data files and for adding, dropping or renaming online redo log files. 

A. Incorrect 

B. Correct 

Correct Answer: A 

 

QUESTION 5

Which of the following statements are correct regarding the use of the lock table in an SAP system based 

on AS ABAP with several instances? 

There are 2 correct answers to this question. 

A. The lock table is located in the shared memory of the message server, and can be accessed by all work processes
through the message server. 

B. The lock table is located in the shared memory of the computer where the enqueue work process is running. 

C. The lock table is a transparent table located in the SAP system, and the contents can be displayed using the ABAP
dictionary. 

D. If a dialog work process from another instance (without enqueue work process) 

E. requests a lock, the lock operation is performed by the enqueue work process on the central instance. 

Correct Answer: BD 
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